I— 1 | 2 3 4 | 5 6 7 8
1.18 11.42 1.18
0.43 [30] [290] [30]
A [11] —i
’jt:f— r ® ® ® ‘] —kg
DRI N e
{u{nuf o ) for M10 Screw
B ¢ HE]HHHHEHEHHHHHHMHHHEHE[HHH”HEH :
% |
— goE uﬂuuugaﬁﬂguuﬂﬂuugﬁﬁﬂg[uuuﬂ [
e [11] —l
c 2 T8 | Bl Tt —
1) @9 f
_ i Detail A
N =i
\
075 N &TOP VIEW
D [19] — A NOTE: FOR PROPER LIFTING, HANDLING AND
1.18 11.42 1.18 MOUNTING INSTRUCTIONS, CONSULT MANUAL.
[30] | [290] [30]
WIDTH MTG DIM
— 0.1
[2.5] j
E
F
o
Y
— =+l
]
‘o_u' 0,
G
o ollelle oelle © ([’;23]
| €] ] ] | —l
H
13.78 0.1 14.96
[350] [2.5] [380]
I
VOLTAGE | CURRENT | WEIGHT HEAT
PART# | DESCRIPTION | * y/ac) (A) LBS (Kg) | LOSS (W)
1 UF1000364 EUJ71095X 380/480 210 140.8 (64.0) 272
J TOLERANCES / REFERENCES: ™ |DRAWN: DATE TITLE:
y YAS KAWA J. MATTAS 7-30-14| D1000 PWM FILTER MODULE
CHECKED: oate | DIMENSION DRAWING
J. PIOTROWSKI |[7-30-14 | UF1000364
— THIS DOCUMENT AND INFORMATION CONTAINED | T oATE |-
IN IT ARE CONFIDENTIAL, AND CANNOT BE A‘i;R?g)BJA 7'32;514 Sz REVIION PRGE
COPIED OR DISCLOSED IN WHOLE OR INPART| | GAIRO 9-23-14 A R0OO 1 of 2
UNITS: SCALE: WITHOUT THE EXPRESS WRITTEN CONSENT [GRIGINAL DESIGN: BarE ] DR WING
INflmm]| 1:6 |oF vaskawa AMERICA, INC. - - |DD.UF1000364




1 2 3 | l 5 6 | 7 8
TERMINAL DETAILS
(FRONT COVER AND TOP COVER REMOVED) ELECTRICAL DIAGRAM
A 2.81 3.66 3.66
[71.5] [93] 193]
Voltage Detection Terminals +
—| with M4 Screw \
@\ %F SCI PWM Filter Module Input AC Reactor |— -
3 ) ] Three- —r:iar 'IR"U p—— _(x] S A~ X ) LT
Phase sL2 5 v Y L,
B @ Sy~ = Y y g ©) 82
® :u:d, T3 T Z,l i, — z] fT: i
S —n T ey e QO © s
P mfien
@ ol o lo (©] =/ T_T_T [
IV L%~ L ‘
— [ [ rlalt |
= = =
= |
|
@0
B I
N
o |
[oe) ﬁ @ oo HI Ole o m o o0 m Ol @ {
] Y — -2 o)
7
D | s Y
Grounding Terminals
0.08 11.26
2 [286] with M12 Screw
2.05 3.66 3.66 8.28
. . [52] [93] [93] [210.2]
Main Terminals | | |
2.86
with M12 Screw(input) R/L1 S/L2 T/L3 [72.7]
2.31 r,o.1
F
| Main Terminals input
Grounding Terminals Tg
G 3 _ <
£ » [}
ST e s 1.68 M
W 8 = " [42.7] Q g
o N —o + O O
_ 255 Q3 o 52 g
- g-)l v 2 Main Terminals output ~ =0
£ =) 0 F5 0 T e
g a2 R = 1S)
= 5 - =3 o £
o = (o]
H 1 @ ) 2
2 £
<
o ® £
< ™M =
w =2
J .% q >
s L
| |
Main Terminals
2.13+£.20 h M2 S ( )
wit crew(output
. [54.123] 354£20 | 35420 :
[90+5] [9045]
‘J TOLERANCES / REFERENCES: ™ |DRAWN: DATE TITLE:
7 YAS KAWA J. MATTAS 7-30-14| D1000 PWM FILTER MODULE
CHECKED: pate | DIMENSION DRAWING
J. PIOTROWSKI | 7-30-14 | UF1000364
] THIS DOCUMENT AND INFORMATION CONTAINED | 5% oATE |-
IN IT ARE CONFIDENTIAL, AND CANNOT BE A‘i;R?g)RJA 7'3;'514 SiZE REVISION PAGE
COPIED OR DISCLOSED IN WHOLE OR IN PART| J  CAIRO 9-23-14 A R0O 2 of 2
UNITS: SCALE: WITHOUT THE EXPRESS WRITTEN CONSENT [ORIGINAL DESIGN: DATE | e #
INlmm] | 1:6 |oF vaskawAa AMERICA, INC. - - |DD.UF1000364




